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[take the rainstick very slowly in hand, and move it to 120 degree]

slow rain ...
o - I 73 ¥ © I
Perc. Hi—% — S - & |
L 3 I < —< ]
rep mf
o col .b. glissano
on the bridge very close to the bridge S
airynoiseonly_ _ _ _ _ _ _ _ e » extreme pressure
L E 11
[
Vin. |H{es % ] ] ] i = i i ] 7 l I
ANSVAL ] I I ] ] ] I 174 i S
ry) X I+ Y X+ X X X T
P M == i
. very close to the bridge 1 li
1) G At M > >
T f - =
ve. 19 1 i i — i 1 £ < 7 e,
C A / I I I ) I I I 7 7
L 3 == v v = v ] 4
&7 &7
- o ~—e ——— /;_)(
PP Jr —
. col .b. glissano
extreme pregsure col.b>
‘ il g
O 4 I n =7 T T T
) H
Db. | x % i i * i i i vi
L 3 I I X X oI~ o o
N T N o—— — —

3

wiid ——— PPP&.




Perc.

Vin.

Db.

with 2 metal brush, on the surface of the bass drum
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Perc.
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with end of a wooden mallet
back and fort -
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